Stock No. .

MRL-100
YMF-0001

YMF-0002
YMF-0004
YMF-0005
GPCXCENT
MRLAT6

KB2101
KB2102
KB2103
KB2106
KB2107
KB2108
KB2109
KB2201
KB2202

=~ KB2203M

KB2203
KB2203A
KB2204
KB2205
KB2303N
KB2304
KB2304M
KB2305
KB2306
KB2307
KB2308
KB2309

~KB2309M

KB2401
KB2402
KB2403
KB2404
KB5404

KB2405
KB2405A
KB2405B

KB2406
KB2406FP
KB2407
KB2408
KB2408A
KB5401BB

KB5401

KB5402
KB2411
KB2412
KB2413

KB2415

KB2416
KB2417
KB2501
KB2502
KB2503
KB2504
KB2506
KB2601
KB2602
KB5602
KB5603
KB2605
KB2606
KB5606
KB5607
KB5608

KALT HELICOPTER PRODUCTS
CIRCUS

DESCRIPTION PRICE
Holiday — Sport .20-.40 $ 39.95
Sunday Alpha — Sport .19- 25 :

(Semi-Assembled) 69.95
Sunday — Sport .19-.25 24.95
Viking — Sport .40-.45 49.95
Citation — Pattern .60 119.95
Cox Cessna 210 ARF w/.049 Englne 69.95
AT-6 1.20 159.95

BARON 20

Subframe Set $ 295
Servo Tray Retainer 2.95

Crossmember ‘A’ .99

Main Frame Set 17.95
Body Mounting Boit Set pkg/3 1.95
Radius Support Arm .99
Crossmember “B” 1.00
Pinion Gear 7.95
Clutch Bell 5.95
Clutch Bell for Metal Clutch 7.95
Ballbearing — Pinion Gear (open)

Ballbearing — Pinion Gear (sealed) 495
Ballbearing — Main Shaft 4.95
Bearing Block Set — Plastic pkg/3

Cooling Fan 9.95
Starting Pulley 4.95
Pulley for Metal Clutch 12.95
Clutch, Bushing and Lining 5.95
Motor Mount 7.95
Cooling Shroud 6.95
Starting Belt 3.95
Clutch Lining .99
Clutch Lining for Metal Clutch 5.95
Slide Ring Assembly 6.95
Slide Ring Pivot 1.95
Pitch Control Ring 1.95
Follower — Standard 4.29

Follower — Articulating *

(for use with Hiller/Bell mixer) 11.88
Main Shaft — Standard 5.95
Main Shaft — Autorotation 6.95
Main Shaft Bushing

(for use with articulating follower) 1.50
Swash Plate 21.95
Swash Plate for FP20 14.95
Swash Plate Collar .99
Main Gear — Standard 6.95
Main Gear — Autorotation 6-95 695 698,
Ballbearing — Bevel Pinion Gear

(tail drive) no. 605 2.00
Tail Drive Bevel Pinion Gear Housing

with Bearings 5.99
Tail Drive Bevel Pinion Gear 8.39
Pitch Control Rod pkg/2 3.69
Autorotation Bushing 2.99
Autorotation Housing (inciudes bearings)

and clutchless gear) 24.95
Upper A/R Bearing 5,95
Bottom A/R Bearing 6.95
AIR: g Chutch 6.95
Landmg ear Strut Set 5.95
Landing Gear Clamp Set 2.95
Landing Gear Skid Set 4.95
Fuel Tank 3.95
Landing Gear Set — Complete 10.95
Tail Rotor Gear Housing 3.95

Tail Rotor Gear Housing Ring .99

Tail Rotor Output Gear 8.95
Tail Rotor Input Gear 6.89
Ballbearing — Tail Rotor (open) 3.95
Ballbearing — Tail Rotor (sealed) 4.95
Tail Rotor Hub w/Ballbearings 9.89
Tail Rotor Blade Holder Set 3.49
Tail Rotor Pitch Control Plate 1.50

86438

196 5-l}5

Stock No.
KB5609
KB5614
KB5615
KB2617
KB2618
KB2619
KB2620
KB2621
KB2624
KB2624PB
KB2624P0O
KB2624PW
KB5610
KB2626
KB2627
KB5629
KB5630
KB2703
KB2802
KB5906
KB2805
KB2806
KB2806A
KB2807
KB2904
KB2905
KB2906
KB2A01

KB2A02

KB2A04
KB2A04M
KB5611
KB2A07
KB5705

KB2A08

KB2R103
KB2R106
KB2R107
KB2R109
KB2R123
KB2R200
KB2R201
KB2R202
KB2R204
KB2R206
KB2R208
KB2R209
KB2R213
KB2R214
KB2R214C
KB5R151

KB5912
KB2401
KB2A02

KB2A04
KB2A07
KB2ASP-1
KB2ASP-2
KB2627
KB2628
KHA043

KB5101
KB5101GS

DESCRIPTION

Tail Rotor Drive Control Shaft

Tail Rotor Drive Coupler

Tail Rotor Drive Coupler Bushing pkg/2
Tail Boom

Tail Rotor Drive Wire Guide

Tail Clamp Set

Tail Boom Retainer

Tail Boom Support

Tail Rotor Blades pkg/2

Plastic T/R Blades Black

Plastic T/R Blades Oranges

Plastic T/R Blades White

Tail Rotor Pitch Control System

Tail Rotor Gear Box Bearing Set pkg/4
TAIL &NV

Tail Rotor Drive Coupler & Bushing Set
Tail Rotor Blade Holders with Bearings
Bell Crank Set pkg/2

Flybar (stablized bar) 2 per pkg.

Flybar Paddles (stabilizer blades) pkg/2
Flybar Control Lever

Main Rotor Blades pkg/2
Semi-Symmetrical M/R Blades B28/28C
Main Rotor Blade Reinforcement pkg/2
Body and Canopy

Wood Parts Set

Complete Hardware Set

Hiller/Bell Mixer (must be used in con.
w/KB5404 articulating follower)
Autorotation System (must be used in
conjunction with KB2405A main shaft)
Baron 20 Exploded View

Baron 20 Construction Manual

Tail Rotor Pitch Control Shaft Collars pkg/2
B-28 Metal Clutch

Nylon Pushrod and Housing — Tail
Rotor Pitch Controi

Collective Pitch Conversion Kit for FP20

BARON 20 ROTOR HEAD PARTS
Hub Plate for fixed pitch 20
FP Head Housing Spacer
FP Control Lever w/Bolt
Fixed Pitch Blade Hoider Grip
Fixed Pitch Blade Center Hub
Main Rotor Head Assembly
Blade Grip Assembly with Bearings
Pitch Arm
Hub Plate
Center Hub
Seesaw
Spindle
Seesaw Screws pkg/2
Seesaw Arm
Ballbearing Seesaw Arm
Bushing — Flybar and Center Hub
0404-9 pkg/2
Flybar Collars pkg/2
BARON 20 ACCESSORIES

October 1985

CIRCUS
PRICE
49
2.09
89
5.99
99
2.95
2.99
4.95
3.95
$ 279
2.79
2.79
1.99
12.95
505 4
2.79
9.19
2.50
5.95
-6
4.95
7.95
96, J(
3.49
12.50
3.95
26.95

12.95

29.95
3.95
6.95

39

2505 3

2.73
110.95

$ 499
1.85
2.95
1.95
5.95

59.95
13.85
4.99
4.99
9.99
6.95
2.95
1.95
4.95
13.95

1.69
68 (-

Hiller/Bell Mixer (must be used in con. w/KB5404

articulating follower)

Autorotation System (must be used in con-
junction with KB2405A main shaft)
Baron 20 Exploded View

2-Way Métal Clatch -

Spare-Parts Kit

Spare Parts Kit B28C & Autorotation
Plastic Stabilizer Set

Tail Clamp Set (for use with KB2627)
Helo-Ball Muffler (for use with Webra
Speed .28 Helicopter Engine)

BARON 50

Subframe Set
Subframe Set GS Baron

$ 995

29.95

3.95
29.95
39.95



Stock No.

KB5102
KB5102GS
KB5103
KB5105
KB5105GS
KB5106
KB5106C
KB5106GS
KB5106FC
KB5107
KB5108
KB5109
KB5§110FC
KB5111
KB5112
KB5113
KB5201
KB5202
KB5202FC
KB5202GS
KB5203
KB5203C
KB5203CL
KB5203FCL
KB5204
KB5205
KB5206
KB5207
KB5303
KB5303FC
KB5304
KB5304C
KB5305
KB5305C
KB5306
KB5306C
KB5307
KB5308
KB5308FCO
KB5308GS
KB5309
KB5310
KB5310A
KB&310FCO
KB5311
KB5401
KB5401A
KB5401BB
KB5402
KB5403
KB5404
KB5404P
KB5405
KB5405C
KB5406
KB5407
KB5407A
KB5407C
KB5408
KB5408HD
KB5409
KB5410
KB5410HD
KB5411
KB5412
KB5413
KB5501
KB5502
KB5§502C
KB5503
KB5504
KB5504C
KB5505

KALT HELICOPTER PRODUCTS (cont.)

CIRCUS
PRICE

DESCRIPTION
BARON 50 cont.

Servo Tray Retainer

Servo Tray Retainer GS Baron
Crossmember “A”

Front Bed

Front Bed GS Baron

Main Frame Set

Main Frame Set ‘'Custom”
Main Frame Set GS Baron
Main Frame FC Baron

Body Mounting Bolt Set
Radius Support Arm
Crossmember ‘B

Gyro Mount FC Baron
Crossmember “‘E’’ GS Baron
Crossmember “F’’ GS Baron
Crossmember ‘G’ GS Baron
Slide Ring Assembly

Pinion Gear

13 Tooth Pinion Gear FC Baron
Pinion Gear Baron GS

Clutch Bell

Clutch Bell ““Custom”

Clutch Bell wiLining Custom
Clutch Bell w/Lining FC Baron
Ballbearing Pinion Gear
Ballbearing Main Shaft Top
Ballbearing Main Shaft Bottom
Bearing Blocks

Cooling Fan

Cooling Fan FC Baron

Pulley & Bearing

4-Way Clutch Pulley

Clutch Bolts

Ciutch Bolts 4 Way

Ciutch Shoe

Clutch Lining 4 Way

Clutch Springs

Cooling Shroud

FC Baron Cooling Shroud O.S. 1.20
Cooling Shroud GS Baron
Starting Belt

Motor Mount .60

Motor Mount .45-.50

FC Baron Engine Mount O.S. 1.20
Cooling Shroud Mtg PIt Gas
T/Drive Housing w/Bearings
T/R Drive Pinion Gear Housing
Ballbearing Tail Gear DR (605)
Tail Drive Bevei Gear

Main Shaft

Follower 50A (Articulating)
Follower 50 Std.

Swash Plate & Collar

Swash Plate Collar

Seesaw Slide Rod pkg/2

Main Gear Std.

Main Gear Autorotation

Main Gear-Machined ‘‘Custom”
A/R Main Gear Spacer

Heavy Duty Main Gear Spacer
Pitch Control Ring

Heavy Duty A/R Bushing

A/R Bushing Heavy Duty

4 Way Clutch Damper Set
Autorotation Spague Clutch
A/R Ball Bearing Open
Crossmember ‘D"

Landing Gear Struts

Landing Gear Struts ‘‘Custom”
Landing Gear Skid Set
Landing Gear Clamps

Landing Gear Attachment Assy. Custom
Landing Gear Skid Caps (4)

$

5.95
4.99
2.95
10.95
13.95
10.95
3.95
7.95
7.95
13.95
1.99
10.99
4.95
3.95
10.95
8.95
12.95
4.95
29.95
.99
1.85
6.95
7.50
13.95
1.00
1.00
14.95
7.95
9.95
3.99
12.95
3.95

10.95
9.95
6.95
3.95

5.95
277

Stock No.
KB5506
KB5506C
KB5507
KB5507A
KB5507B
KB5508
KB5508C
KB5508CB
KB5508GS
KB5509C
KB5601
KB5602
KB5603
KB5604
KB5605
KB5606
KB5607
KB5608
KB5609
KB5610
KB5610A
KB5611
KB5612
KB5613
KB5614PH
KB5616
KB5617
KB5618
KB5619
KB5620
KB5623W
KB5623WS
KB5624
KB5625
KB5626
KB5627
KB5628
KB5629
KB5630
KB5701
KB5702
KB5705
KB5800
KB5801
KB5801W
KB5802B
KB5802C
KB5806
KB5807
KB5906
KB5911
KB5912
KB5913
KB5999
KB5A01
KB5A01A
KB5A02
KB5A03
KB5A04
KB5A05
KB5A06
KB5A06HD
KBSA06HDC
KBS5A07
KB5A07B
KB5A18
KB5A8-1
KB5A8-2
KB5A8-3
KB5A8-4
KB5A8-4A
KB5A8-5
KB5A8-6

- KB5A22

DESCRIPTION

Landing Gear Spacers

Landing Gear Dampers — ‘“‘Custom’’
Fuel Tank

320 cc Fuel Tank

Fuel Tank Stopper

Landing Gear

Landing Gear ‘‘Custom”
Landing Gear Custom ‘‘BLACK”
Landing Gear Baron GS
Landing Gear Clamps ‘‘Custom”
Tail Rotor Gear Housing

Tail Rotor Output Gear

Tail Rotor Input Gear
Ballbearing Tail Gear Open
Ballbearing Tail Gear Sealed
Tail Rotor Hub with Bearings
Tail Rotor Blade Hoiders

Tail Rotor P/C Plate

Tail Rotor P/C Shaft

Tail Rotor P/C System

Plastic Parts for T/R PC System
Tail Rotor P/C Shaft Collars
Vertical Stab Bracket

T/R Drive Shatt

Phenolic T/R Couplers

Tail Boom

T/Drive Wire Guide

Tail Boom Retainer

Tail Boom Support

Tail Clamp

Tail Rotor Blades — Wood

T/R Blades With Shrink Covering
Vert/Horizontal Stabilizer Set
Tail Rotor Hub Bearings (2)
Rudder Rushrod Clamps

Tail Rotor Hub

Tail Boom Support Clamp
T/Drive Coupler/Bushing Set
Tail Blade Holder w/Brg

Servo Tray with Hardware
Servo Mounting Hardware
Nylon Pushrod & Housing pkg/2
Grommets — Body Mounting
Body and Canopy

Body and Canopy White
Canopy Baron 50 Blue

Canopy Baron 50 Clear

Main Rotor Blades

M/R Blade Reinforcements
Paddles

Flybar pkg/2

Flybar Collars

Flybar Collar Blackhead
Complete Hardware Set

4 Way Clutch

4 Way Clutch Shoe

Baron 50 Muffler

Inline Swash Plate

T/Rotor Acceleration Drive

Main Gear Preloader
Autorotation System

Heavy Duty A/R System Less Gear
Heavy Duty A/R System Conversion Kit
Hiller/Bell Mixer

Hiller/Bell Mixer “B”’ type
Hiller/Bell Mixer Mk 1li

Follower “‘C”" Mixer

“C” Type Mixer Link

C-Mixer Scissor Arm

C-Mixer Scissor Assembly
C-Mixer Scissor Assy w/Pitch Con. Ring
C-Mixer Yoke Arm

Swash Plate for C-Mixer

Muffler GS Baron

October 1985

CIRCUS
PRICE
$ 99
1.49
5.00
6.95
1.95
13.59
19.95
19.95
18.95
1.99
4.99
8.95
7.95
3.95
4.95
12.95
4.95
1.95
1.99
3.95
1.00
1.50
???
1.50

- 1495
6.95

3.95
5.95
1.95
4.95
4.95
4.95
4.95
.99
2.95
.99
4.95
11.95
19.95
2.95
5.95
1.95
14.95
14.95
6.95
5.95
13.95
5.95
6.95
7.95
1.00

29.95
36.95

3.95
21.95
39.99
39.95

7.95
49.95
43.95
49.95
36.95
37.95
74.95

6.95

1.09
11.49
28.95
29.95

8.95
39.95

9.29



KALT HELICOPTER PRODUCTS (cont)
CIRCUS

Stock No. DESCRIPTION PRICE
KB5A23A C Mixer P/C Ring $ 149
BARON 50 ROTOR HEAD PARTS
KB5R100 K1-SB Rotor Head Assembly $ 79.95
KBSR100B  K2SB Rotor Head (BBrngs) 99.95
KBSR101 Blade Grip Assembly w/Bearings 15.95
KB5R102 Pitch Arm with Ball : 3.95
KB5R104 Gimble Yoke 9.95
KB5R106 Center Hub - 9.95
KB5R108 Seesaw 8.95
KB5R109 Hub Spindle 3.95
KB5R113 Seesaw Screw 1.99
KB5R114 Seesaw Arm 4.09
KB5R115 Seesaw Shaft with Nut 1.95
KB5R117 Damper Cap 1.99
KB5R119 Flap Damper with Shaft 295
KB5R120 Gimbal Shaft 1.95
KB5R121 Flybar Control Lever 5.59
KB5R150 0303-07 Bush Seesaw Shaft 3.59
KB5R151 0404-9 Bush Flybar 2.95
KB5R152 0505-10 Bush Gimbal Yoke 2.95
KBSR153 0504-10 Bush Seesaw Screw 2.95
KB5R200 Blackhead Il Rotor Head Assy 179.95
KB5R201 Seesaw Side Plate 9.95
KBS5R202 Seesaw Arm Assembly 12.95
KB5R202A  Seesaw BBrng. BHHl 6.95
KB5R202AA Flybar Bushing BHII 2.95
KB5R202AB Flybar Bearing LF74022 3.95
KB5R202BB Seesaw Arm Balibrng (LF630) 3.95
KB5R204 Hub Plate 6.95
KB5R205 Blade Grip Plate Set 5.95
KB5R206 Center Hub 20.95
KB5R207 Center Hub Assembly 50.95
KB5SR208 Flybar Bearing Housing 5.59
KB5R208BB Flybar Housing w/BBrng. 11.95
KB5R209 Spindie Bearing Housing 11.95
KB5R209BB Spindle Balibearing 495
KB5R211 Blade Grip Mount & Spindle 8.95
KB5R212 Hub Spindle 3.95
KB5R213 Seesaw Crossmember 1.95
KB5R215 Spindle Washer 1.95
KB5R219 Control Arm 5.95
KB5R220 Seesaw Yoke 6.95
KB5R250 Seesaw Arm “L” Arm Assy 2.95
KB5R251 Blk/head IIC Rubber O’ Ring 3.95
KB5R2RD1  Rubber Damper 50 1.99
KB5R2RD2 Rubber Damper 40 1.59
KBSR300 K-lll SB Rotorhead Assembly 99.95
KB5R301 K-lll Head Blade Grip Assy 15.95
KB5R302 K-t Pitch Arm w/Joint Ball 4.95
KB5R303 BBRG/K3SB Pitch Arm LF63022 3.95
KBS5R304 K-1Il Head Gimball Seesaw 36.95
KB5R305 BBRG for K3SB Seesaw LF84022 3.95
KB5R306 K-lll Head Center Hub 14.95
KB5R307 K-l Head Hub-Plate Std. 5.95
KB5R307A  K-lll Hd. Hub Plate-Aerobatic 6.95
KBSR3078  K-lIl Hub Plate Training 5.95
KB5R309 K-l Head Hub Spindle 4.95
KB5R312 BBRG for K3SB Flybar LF74022 2.95
KB5R313A  K-Ill Hd Stab Bar Holder (A) 3.95
KB5R313B  K-lll Hd Stab Bar Holder (B) 3.95
KBS5R314 Blade Grip Shaft Holder 3.95
KB5R315 Seesaw Arm Shaft, Nut 1.95
KB5R400 Blackhead SB 1IC Rotorhead 199.95
KBSR402A  Custom BH Seesaw BBrng. 5.95
KB5R503 SB Blackhead Hub Plate 16.95
KB5R506 SB Blackhead Center Hub 20.95
KB5R518 SB Blackhead Flapping Damper 3.95
KB5R519 SB Blackhead Damper Shaft 1.95
KB5R526 SB Blackhead Gimbal Shaft 2.95
KB5R600 Biackhead 3 SB Custom 225.95
KBSR607 BH3 Sub Grip 4.95
KB5R608 BH3 Yoke Hanger 19.95

KB5R618 BH3 Center Hub w/Brngs 19.95

Stock No.
KB5R626
KB5R638
KB5R646
KB5R656
KB5R666

KB5R668
KB5R676
KB5R678
KB5R687
KB5R688
KB5R697
KB5R698
KB5A01
KB5A02
KB5A03
KB5A04
KB5A05
KB5A06
KBSA06HD
KBSA06HDC
KB5A07
KB5A078B
KB5A08
KB5A09
KB5A10
KB5A10CF
KB5A16
KB5A18
KB5A19
KB5A21

KB5A20
KB5A22
KB5A024
KB5ASP-1
KB5ASP-2
KB5ASP-3

KB6101
KB6102
KB6201
KB6202
KB6203AB
KB6204
KB6205
KB6206
KB6207
KB6208
KB6302
KB6303
KB6401
KB6401A
KB6402
KB6404
KB6405
KB6405C
KB6406
KB6407
KB6408
KB6408A
KB6408SC
KB6409B
KB6409B8B
KB6410
KB6411
KB6415
KB6501
KB6601
KB6601A
KB6602
KB6604

DESCRIPTION

BH3 Center Pin

BH3 Blade Grip Assy

BH3 Flex Beam Flapping Yoke
BH3 Damper Housing

BH3 Damper Cap

BARON 50 ACCESSORIES
BH3 Seesaw Plate
BH3 Damper
BH3 Seesaw Center Block w/Brng
BH3 Damper Adj. Washer
BH3 Seesaw Bearing Housing
BH3 Blade Holder
Seesaw Arm Assy
4 Way Clutch
Muffler (for all Side Exhaust .50-.60 Eng.)
Inline Swash Plate
Tail Rotor Acceleration Drive
Main Gear Preloader
Autorotation System
Heavy Duty A/R System Less Gear
Heavy Duty A/R Conversion Kit
Hiller/Bell Mixer
Bell-Hiller Mixer “B"’ type
Sturt Paddles
Float Set
Bottom Starter Kit
Cooling Fan for Bottom Starter
Jet Ranger Fiberglass Fuselage
Hiller/Belt Mixer Mark Il

" Baron 50 Exploded View

Bell 222 Fiberglass Fuselage

Long Ranger Fiberglass Fuselage
Ball Bearing Collective Pitch Bar Assy
Muffler for GS Baron

Long Ranger Fuselage Kit

Spare Parts Kit B/50

Spare Parts Kit B/50A, MKIII

Spare Parts Kit B/50C

BARON 60
Main Frame Set
Gyro Mount
Slide Ring Assembly
Slide Ring Arm Pivot
Slide Ring Arm Bushings
Slide Ring Arm Set
Slide Ring Spacer
Pinion Gear
Pinion Gear Bearing Block
Main Shaft Top Bearing Block
Starting Belt
Starting Belt
Elevator Control Ring
C-type Universal Link
Adjustable Elevator Ring
Seesaw Slide Rod
Main Shaft
Swash Plate Coliar
Main Gear (machined)
Bevel Steel Gear
Autorotation Housing
Autorotation System
A/R Sprague Clutch
A/R BBrng. Open
A/R BBrng. Sealed
Tail Drive Bevel Gear
T. Drive Input Brg. Block
Autorotation Bushing
Tail Boom Support Clamp B
T/R Gear Box Complete
Tail Gear Housing Only
Tail Boom

1650 Open Bearing (inner)

October 1985

CIRCUS
PRICE
$ 195
39.95
74.95
8.95
6.95

$ 11.95
1.99
14.95
1.50
12.95
12.95
15.95
31.50
21.95
39.99
36.95
5.59
43.95
9.95
49.95
34.39
37.95
4.25
23.95
39.95
18.95
159.95
74.95
4.95
189.95

29.95
12.95
169.95
45.95
15.95
49.95

$ 29.95
2.95
12.95
2.95
95
12.95
99
8.95
9.95
9.95
4.95
4.95
13.95
2.95
3.95
.99
8.95
.99
14.95
14.95
9.95
59.95
11.95
3.95
4.95
9.95
8.95
10.95
99
34.95
12.95
7.95
3.95



Stock No.
KB6604RF
KB6605
KB6605RF
KB6619
KB6801
KB6805
KB6806
KB6ASP-1

KG2201
KG220
KG2216
KG2221
KG2222
KG2223
KG2227A
KG224
KG2240
KG2241
KG2242
KG224A

KSHPO0O1
KSHP002
KSHP003
KSHPO004
KSHPO005
KSHP006
KSHP007
KSHP050
KSHP008
KSHP009
KSHP010
KSHPO11
KSHP012
KSHPO14
KSHPO14A
KSHPO15
KSHP016
KSHO017
KSHPO18
KSHPO019
KSHP021
KSHP022
KSHP023
KSHP024
KSHP025
KSHP026
KSHP027
KSHP028
KSHP029
KSHP030
KSHP031
KSHP032
KSHP033
KSHP034
KSHP035
KSHP036
KSHP037
KSHP038
KSHP039
KSHP040
KSHPO041
KSHP042
KSHP043
KSHP044
KSHP045
KSHPO050
KSHPO051
KSHP222F

KALT HELICOPTER PRODUCTS (cont.)
CIRCUS

PRICE
$ 395

DESCRIPTION

RF 1350 Open Bearing (inner)
1650ZZ Bearing (outer)

RF 1350ZZ Bearing (outer)
B-60 Tail Boom Brace
Fuselage & Canopy-Fiberglass
Tail Boom Support End

Tail Boom Support Clamp A
Spare Parts Kit Baron 60

KG 22 GASOLINE ENGINE PARTS
KG22 Gas Engine Crankcase
Kalt Gasoline Engine
Intake Manifold Gasoline Engine
Gasket Set Gasoline Engine
Exhaust Manifold Gasoline Engine
Manifold Gasket Set
Safety Clips
Piston Gasoline Engine
Points Gasoline Engine
Condensor Gasoline Engine
Spark Plug Gasoline Engine
Piston Ring Gasoline Engine

KALT SCALE HELICOPTER PARTS
Main Blades AS-350B B-222
Main Blades Other Scale Heli
Main Shaft Cobra
Main Shaft H-500
Main Shaft Jet Ranger
Main Shaft AS-350B & B-220
Muffler All Except Cobra
Transmission with Autorotation
Windshield Cobra
Windshield H-500
Windshield Jet Ranger
Windshield Bell 222
Windshield AS-3508B
Scale Landing Gear :
Landing Gear Set for AS350B
Muffler Cobra
Slide Rod (Cobra)

Slide Rod (Hughes 50)

Slide Rod (Jet Ranger)

Slide Rod (B222 & AS3508B)
Tail Rotor Blades AS350B
Coupler Flexible Tail Drive
Flexible Drive Wire

Housing Flexible Drive Wire
Exhaust Stack (Jet Ranger)
Transmission Main Shaft
Transmission Pinion Gear
Main Shaft Bearing (rear)
Main Shaft Bearing (front)
Rotor Drive Shaft
Transmission Bevel Spur Gear
Trans. Tail Drive Bearing (rear)
Trans. Tail Drive Brg. (front)
Trans. Counter Shaft

Trans. Bevel Pinion Gear
Trans. Spur Gear

Main Shaft Housing
Mounting Plate

Servo Tray Set

Trans. Autorotation Assembly
Trans. Counter Shaft Assy
Main Shaft Housing

2.5mm Pins

Bell 223 Landing Gear Set
Bell 222 | anding Gear Pipes
Complete Transmission Assy
M/S Top Bearing w/Housing
Bell 222 Landing Gear Assy Kit

KSHP222FS Bell 222 L.anding Gear Struts 3 Pc

4.95
4.95
7.95
51.95
1.95

99 -

59.95

$ 29.95
143.95

6.95
2.95
4.95
2.50
1.95
7.29
8.95
6.95
4.95
7.95

$ 1295

14.95
8.95
8.95
8.95
8.95

- 21.95
149.95

4.95
4.95
4.95
5.95
4.95
19.95
19.95
21.95
.99
.99
.99
.99
3.95
2.95
6.95
2.95
2.95
4.95
8.95
3.95
4.95
4.95
24.95
3.95
4.95
3.95
9.95
9.95
8.49
8.95
12.95
39.95
29.95
8.29
1.25
19.95
4.95

149.95

14.95
21.95
6.95

October 1985

CIRCUS
Stock No. DESCRIPTION PRICE
KSHP222R  Retract Bell 222 $ 59.95
KALT HELICOPTER ACCESSORIES
KHADO1 Ballbearing T/R PIC- Plate Assy (All) $ 1t 95
KHAQOQ1A T/R P/C Plate E-Ring
KHA001B BBrg T/R P/C Plate Plastic Parts Set 2, 95
KHAQ002 Metal Bellcrank Set (Baron 50)
KHA002B Metal Ball Bearing Bellcrank Baron 60
KHA003 Fuel Cut-Off Valve Pkg/2
KHAQ04 Univ. Links (thd. rod ends-nylon) pkg/10
KHAQO5 Univ. Links with ball pkg/5 each
KHA006 Threaded Rod 2.3 x 17mm pkg/2
KHAQ07 Threaded Rod 2.3 x 35mm pkg/2
KHA008 Threaded Rod 2.3 x 50mm pkg/2
KHA009 Threaded Rod 2.3 x 65mm pkg/2
KHA010 Threaded Rod 2.3 x 85mm pkg/2
KHAO11 Threaded Rod 2.3 x 110mm pkg/2
KHAO012 Threaded Rod 2.3 x 120mm pkg/2
KHAOQ13 Threaded Rod 2.3 x 200mm pkg/2
) Threaded Rod Asst. pkg/39 (Baron 50)

_KHAO14

KHAO018

KHAO19
KHAO020
KHAO21

KHA024
KHA025
KHA026
KHA027
KHAO28
KHA029
KHA030
KHA031
KHAO31A
KHA032

KHAQ32A

' KHAO33

KHA034

~KFAO36
KHA037
KHA040
“HKHAO41
“KHA042
KHA043
KHAQ43A
KHA044
KHAQ051
KHA052
KHA053
KHAO54

KHAO056
KHAOS7
KHAO058
KHAO59
KHA123MSB
KHA123MSW
KHA123MT
KHA123MO
KHA123M2
KHA123M4
KHA123M4T
KHA123M6T
KHA123M9
KHA123T2
KHA123T9

“ Métal B/Brg Bellbrarik Set “A” (Baron 20)

Rod Asst, Baron-20/28.
Botor,Blade Hidrs wiBbrg (all)..

Metal B/Brg Bellcrank Set “B"”

(Baron 50, 60, Scale)

Fuel Filters pkg/2

Metat BfBrg Tail-Rotor PIG:

Bottom Muffler (Baron 50-60) for use
with all Rear Exhaust .50-.60 Engines
Main Rotor Blades—Weighted (Baron 60)
Main Rotor Blades-Weighted (Scale)
Yale B50 Main Rotor Blades

Yale B60 Main Rotor Blades

Mn.-Rir. Blade TransRet.{Baron 20)
Mn. Rtr. Blade Trans. Ret. (Baron 50, 60)
TSK Titanium Main Shaft B50

TSK Hvy Dty Autorotation System B50
TSK H/D A/R Sys Main Gear 86 Tooth
TSK Tail Drive Gear Box w/Integrated

Tail Rotor Pitch Control 74.95
TSK Tail Drive Gear Box Adaptor 7.29
TSK B20/28 Seesaw Mix-Lever 18.95
TSK Hvy Dty Thd Ball Ends pkg/5 3.95
‘Ball-Brg Collective

29.95
! i -Ball- Brg. Art:Foliowsr (all) 29.95
MSK Land. Gear Set (Blk) Baron 50, 60 21.95
TSK Hvy Dty Centrifugal Clutch B50 59.95
Yale B20/28 Tail:Rotor Blades 3.95
Yale B20-Main Rotor Blades 7.95
Heliball Muffler Webra Sp. .28 23.95
Heliball Muffler O.S. 25-28 23.95
Heliball Muffler Webra Spd. .61 25.95
Universal Link Remover 15.95
Universal Link Driver 5.95
Fiberglass Main Rotor Blades B50/60 89.95
TSK BBrg Tail Rmor Pitch Con. Sys.
Fits all"Kait 16.95
TSK Cooling Fan B50/60 19.95
TSK Baron 20728 Machined Main Gear 2495
TSK B/50 Custom Main Gear 80 Tooth 23.95
TSK Baron 50/60 Cooling Shroud 21.95
Heat Shrink Blade Cover. Schiuter (Blk) 2.19
Heat Shrink Blade Cover. Schluter (Wht) 2.19
Heat Shrink Blade Cover. M/R Trans. 1.99
Heat Shrink Blade Cover. M/R Black 1.99
Heat Shrink Blade Cover. M/R Red 1.99
Heat Shrink Blade Cover. M/R Yellow 1.99
H/S Blade Cover. M/R Trans. Yellow 1.99
H/S Blade Cover. M/R Trans. Blue 1.99
Heat Shrink Blade Cover. M/R White 1.99
Heat Shrink Blade Cover. T/R Red 1.49
Heat Shrink Blade Cover. T/R White 1.49



Stock No.

KMHOO02LN
KMHO002LW
KMHO002N
KMH002W
KMHOO3LN
KMHO003LW
KMHOO3N
KMHO003SW
KMHOO3W
KMHOO04LN
KMHO004LW
KMH004SW
KMH004W
KMHO06LW
KMHO065BE
KMHO085BE
KMH125BE
KMH165BE
KMH205BE
KMH206B
KMiH208B
KMH210B
KMH210PH
KMH212B
KMH216PHB
KMH238P
KMH238PHB
KMH23N
KMH2612B

KALT HELICOPTER PRODUCTS (cont)

DESCRIPTION

KALT METRIC HARD
2mm Lock Nut
2mm Lock Washer
2mm Lock Nut
2mm Flat Washer
3mm Lock Nut
3mm Lock Washer
3mm Nut
3mm Serrated Washer
3mm Flat Washer
4mm Lock Nut
4mm Lock Washer
4mm Serrated Washer
4mm Flat Washer
6mm Lock Washer
Threaded Ball End 6.5mm
Threaded Ball End 8.5mm
Threaded Ball End 12.5mm
Threaded Ball End 16.5mm
Threaded Ball End 20.5mm
2x6mm Cap Bolt
2x8mm Cap Bolt
2x10 Cap Bolt
2x10 Philips Bolt
2x12mm Cap Bolt
2x16 Philips Head Bolt
2.3x8mm Philip Screw
2.3x8mm Philips Head Bolt
2.3mm Nut
2.6x12 Cap Bolt

CIRCUS
PRICE

$ 25
.10
.10
.10
.30
.30
.10
.10
10
.25
.10
10
.10
.10
.00
.00
.00
.00
.00
.35
.35
.35
.25

[ G gy

35

.35
.25
.25
15
.50

Stock No.
KMH265FHS
KMH306B
KMH308B
KMH308FH
KMH3108
KMH312B
KMH213PH
KMH312SS
KMH3158B
KMH3158S
KMH316B
KMH318B
KMH3208
KMH325B
KMH327B
KMH330B
KMH3358
KMH34SS
KMH4108
KMH4128
KMH415B8
KMH4208
KMH4228
KMH4258
KMH4308
KMH4358
KMH44SS

KMH6258

DESCRIPTION
2.6x5mm Flat Head Screw
3x6mm Cap Bolt
3x8mm Cap Bolt
3x8mm Flathead Bolt
3x10mm Cap Bolt
3x12mm Cap Bolt
3x12mm Philips Head Bolt
3x12mm Set Screw
3x15mm Cap Bolt
3x15mm Set Screw
3x16mm Cap Bolt
3x18mm Cap Bolt
3x20mm Cap Bolt
3x25mm Cap Bolt
3x27mm Cap Bolt
3x30mm Cap Bolt
3x35mm Cap Bolt
3x4mm Screw Set
4x10mm Cap Bolt
4x12mm Cap Bolt
4x15mm Cap Bolt
4x20mm Cap Bolt
4x22mm Cap Bolt
4x25mm Cap Bolt
4x30mm Cap Bolt
4x35mm Cap Bolt
4x4mm Set Screw
6x25mm Cap Bolt

October 1985

CIRCUS
PRICE
$ .15
.35
.35
25
.35
.35
.25
.25
.35
.25
.35
.25
.35
.50
.50
.50
.50



